

BID2019-13 LEAD SERVICE LINE REPLACEMENT – PHASE 1B FOR LAWRENCE AND HAMILTON TOWNSHIP		FOR TRENTON WATER WORKS									
NUMBER OF RESPONDENTS:	7										
NAME OF BIDDER	ROMAN E&G	SOUTH STATE, INC.	SPINIELLO COMPANIES	DEWCON, INC.	A.P. CONSTRUCTION, INC.	WATERS & BUGBEE, INC.	MONTANA CONSTRUCTION CORP., INC.				
ADDRESS	14 ODGEN STREET NEWARK, NJ 07104	P.O. BOX 68 BRIDGETON, NJ 08302	354 EISENHOWER PARKWAY LIVINGSTON, NJ 07039	P.O. BOX 439 BASKING RIDGE, NJ 07920	915 S. BLACK HORSE PIKE BLACKWOOD, NJ 08012	75 SOUTH GOLD DRIVE HAMILTON, NJ 08861	80 CONTANT AVENUE LODI, NJ 07644				
CONTACT NAME	JOSEPH BELOTTI	BARRY WIDRICK	EMIL J. SOLIMINE, PRESIDENT	FRANK S. DEWRY	MICHAEL PETRONGOLI	CHARLES P. WATERS, EXECUTIVE	LISA S. BALLEIRNI				
TELEPHONE	973-482-1123	856-451-5300	973-808-8383	908-832-5710	856-227-2030	609-584-1100	973-478-5200				
FAX	973-482-7154	856-455-3461	973-808-9591	908-832-0784	856-227-2273	609-584-2200	973-478-7604				
E-MAIL	INFO@ROMANEKG.COM	BWIDRICK@SOUTHSTATEINC.COM	N/A	N/A	MICHAEL@APCONSTRUCTION.COM	BIDS@WATERSANDBUGBEE.COM	LSANTAITE@MONTANACONSTRUCTIONINC.COM				
STOCKHOLDER DISCLOSURE STATEMENT	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED				
BID GUARANTEE	10% NGM INSURANCE COMPANY W.P.O.A/PAMELA J. BOYLE	10% TRAVELERS CASUALTY AND SURETY COMPANY OF AMERICA W.P.O.A/DAWN MCFARLAND	10% FEDERAL INSURANCE COMPANY W.P.O.A/ADRIANA GIAMMICHIELE	10% PHILADELPHIA INSURANCE COMPANIES W.P.O.A/LISA NOSAL	10% ARCH INSURANCE COMPANY W.P.O.A/DONNA M. CHIANCONE	10% FIDELITY AND DEPOSIT COMPANY OF MARYLAND W.P.O.A/JANE L. FEDORCZYK	10% GREAT AMERICAN INSURANCE COMPANY W.P.O.A/MELISSA F. SCHMIDIG				
CONSENT OF SURETY	NGM INSURANCE COMPANY	TRAVELERS CASUALTY AND SURETY COMPANY OF AMERICA	FEDERAL INSURANCE COMPANY	PHILADELPHIA INSURANCE COMPANIES	ARCH INSURANCE COMPANY	FIDELITY AND DEPOSIT COMPANY OF MARYLAND	GREAT AMERICAN INSURANCE COMPANY				
PERFORMANCE BOND AND LABOR AND MATERIAL PAYMENT BOND	REQUIRED FROM AWARDED VENDOR WITH SIGNED CONTRACTS	REQUIRED FROM AWARDED VENDOR WITH SIGNED CONTRACTS	REQUIRED FROM AWARDED VENDOR WITH SIGNED CONTRACTS	REQUIRED FROM AWARDED VENDOR WITH SIGNED CONTRACTS	REQUIRED FROM AWARDED VENDOR WITH SIGNED CONTRACTS	REQUIRED FROM AWARDED VENDOR WITH SIGNED CONTRACTS	REQUIRED FROM AWARDED VENDOR WITH SIGNED CONTRACTS				
PREVAILING WAGE	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED				
CERTIFICATION FOR AMERICAN IRON AND STEEL REQUIREMENTS	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED				
ASPHALT CEMENT AND FUEL PRICE INDEX	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED				
MANDATORY EQUAL EMPLOYMENT OPPORTUNITY	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED				
CERTIFICATE OF EQUAL OPPORTUNITY	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED				
PAY TO PLAY DISCLOSURE ADVISEMENT	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED				
HOLD HARMLESS AGREEMENT	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED				
EQUIPMENT CERTIFICATION	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED				
NON-DISCRIMINATION CERTIFICATION	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED				
NOTICE TO INTENT TO USE SUBS -LIST OF SUB-CONTRACTOR'S FORM	YES - GERARD CAPASSO (PLUMBING)	YES - COPPER PLUMBING AND MECHANICAL, LLC	YES- WILLIAM J. GUARINI, INC. AND MODERNO CONSTRUCTION, INC.	YES - DAN BERNOSKI, AND FIRST CLASS PLUMBING AND HEATING, LLC	YES - PURDY MECHANICAL	PLUMBING&MECHANICAL LLC; AC PHOTO INC ; STOKES CREATIVE GROUP INC.; ATLANTIC INFRARED INC.; KEN	YES - COOPER PLUMBING;R. SPARK INCORPORATED				
REQUIRED EVIDENCE EEO/AFFIRMATIVE ACTION REGULATIONS QUESTIONNAIRE	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED				
ACKNOWLEDGEMENT OF RECEIPT OF ADDENDA #1 DATED 3/6/2019	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED				
ACKNOWLEDGEMENT OF RECEIPT OF ADDENDA #2 DATED 3/12/2019	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED				
ACKNOWLEDGEMENT OF RECEIPT OF ADDENDA #3 DATED 3/14/2019	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED				
BCR FOR CONTRACTOR	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED				
NJPC FOR CONTRACTOR	CERT.#693649 EXP. 03/09/2020	CERT.#51407 EXP. 04/10/2020	CERT.#62325 EXP. 03/27/2020	CERT.#632659 EXP. 09/15/2019	CERT.#62268 EXP. 08/21/2020	CERT.#6176 EXP. 04/03/2020					
LIST OF SUB-CONTRACTOR'S FORM	GERARD CAPASSO (PLUMBING)	COPPER PLUMBING AND MECHANICAL, LLC	WILLIAM J. GUARINI, INC. AND MODERNO CONSTRUCTION, INC.	DAN BERNOSKI, AND FIRST CLASS PLUMBING AND HEATING, LLC	PURDY MECHANICAL	COOPER PLUMBING&MECHANICAL LLC; AC PHOTO INC.; STOKES CREATIVE GROUP INC.; ATLANTIC INFRARED INC.	COOPER PLUMBING;R. SPARK INCORPORATED				
SUB-CONTRACTORS NJ BCR	SUB MUST BE REGISTERED AT THE TIME OF BID OPENING	INCLUDED	WILLIAM J. GUARINI, INC. (INCLUDED) AND MODERNO CONSTRUCTION, INC.	DAN BERNOSKI, (INCLUDED) AND FIRST CLASS PLUMBING AND HEATING, LLC	PURDY MECHANICAL (INCLUDED)	COOPER PLUMBING&MECHANICAL LLC; (INCLUDED); AC PHOTO INC.; (INCLUDED) STOKES CREATIVE	COOPER PLUMBING (INCLUDED);R. SPARK INCORPORATED (INCLUDED)				
SUB-CONTRACTORS NJPC	SUB MUST BE REGISTERED AT THE TIME OF BID OPENING	CERT.#628846 EXP. 01/27/2021	WILLIAM J. GUARINI, INC. (CERT.#603829 EXP. 04/01/2020) AND MODERNO CONSTRUCTION, INC.	SUB NOT REGISTERED AT THE TIME OF THE BID OPENING AS PWC	PURDY MECHANICAL (CERT.#616088 EXP. 08/09/2020)	COOPER PLUMBING&MECHANICAL LLC (CERT.#628846 EXP.01/27/2021); AC PHOTO INC. (CERT.#633860 EXP.10/29/2019); STOKES CREATIVE GROUP INC.; ATLANTIC INFRARED	COOPER PLUMBING (CERT.#628846 EXP. 01/27/2021); R. SPARK INCORPORATED (CERT.#608780 EXP. 08/02/2019)				
NON-COLLUSION AFFIDAVIT	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED				
AMERICANS WITH DISABILITIES ACT OF 1990	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	DID NOT SUBMIT	DID NOT SUBMIT				
LANGUAGE	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED				
DEBARMENT NOTICE	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED				
STATE TREASURER'S LIST OF DEBARRED SUSPENDED AND DISQUALIFIED BIDDERS	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED				
DISCLOSURE OF INVESTED ACTIVITIES IN IRAN	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED				
ETHICS COMPLAINT DISCLOSURE	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED				
CITY OF TRENTON RESIDENT EMPLOYMENT POLICY	INCLUDED	INCLUDED	INCLUDED	INCLUDED	N/A	N/A	N/A				
CERTIFICATE OF INSURANCE	REQUIRED FROM AWARDED VENDOR	REQUIRED FROM AWARDED VENDOR	REQUIRED FROM AWARDED VENDOR	REQUIRED FROM AWARDED VENDOR	REQUIRED FROM AWARDED VENDOR	REQUIRED FROM AWARDED VENDOR	REQUIRED FROM AWARDED VENDOR				
EXTENSION	NO	YES	YES	YES	N/A	NO	YES				
COMPLIANCE WITH EMERGENCY SERVICES	YES	YES	YES	N/A	NO	YES	N/A				
FIVE (5) REFERENCES	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED				
TOTAL BASE BID PRICE FOR PHASE 1B	SEE BREAKDOWN OF ATTACHED PRICING	SEE BREAKDOWN OF ATTACHED PRICING	SEE BREAKDOWN OF ATTACHED	SEE BREAKDOWN OF ATTACHED	SEE BREAKDOWN OF ATTACHED	SEE BREAKDOWN OF ATTACHED	SEE BREAKDOWN OF ATTACHED				
EXCEPTIONS	NONE	NONE	NONE	NONE	NONE	NONE	NONE				

PRICE SCHEDULE
TRENTON WATER WORKS
LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 1B
BID2019-13
BASE BID

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
1.	A1. WATER SERVICE FULL REPLACEMENT TYPE 1 (FULL - MAIN TO CURB STOP - TWW-OWNED PORTION OF A FULL REPLACEMENT) <u>Two Thousand Dollars, No Cents</u> (write Unit Price in words)	1,170	EACH	\$ 2,000.00	\$ 2,340,000.00
1.	A2. WATER SERVICE FULL REPLACEMENT TYPE 1 (FULL - CURB STOP TO METER - CUSTOMER-OWNED PORTION OF A FULL REPLACEMENT) <u>One Thousand Six Hundred Twenty-Three Dollars, No Cents</u> (write Unit Price in words)	1,170	EACH	\$ 1,623.00	\$ 1,898,910.00
1.	B. WATER SERVICE PARTIAL REPLACEMENT TYPE 2 (MAIN TO CURB STOP - TWW-OWNED PORTION - PARTIAL ONLY) <u>Two Thousand Dollars, No Cents</u> (write Unit Price in words)	130	EACH	\$ 2,000.00	\$ 260,000.00
1.	C. WATER SERVICE PARTIAL REPLACEMENT TYPE 3 (CURB STOP TO METER - CUSTOMER-OWNED PORTION - PARTIAL ONLY) <u>Two Thousand Dollars, No Cents</u> (write Unit Price in words)	100	EACH	\$ 2,000.00	\$ 200,000.00
1.	D. NEW CORP STOP AT MAIN <u>Eight Hundred Fifty, No Cents</u> (write Unit Price in words)	325	EACH	\$ 850.00	\$ 276,250.00
1.	E. MAIN <u>TRANSFER WATER SERVICE CONNECTION TO NEW/LARGER WATER</u> <u>Five Thousand Dollars, No Cents</u> (write Unit Price in words)	30	EACH	\$ 5,000.00	\$ 150,000.00
1.	F. WATER METER REPLACEMENT <u>Two Hundred Twenty Dollars, No Cents</u> (write Unit Price in words)	650	EACH	\$ 220.00	\$ 143,000.00
1.	G. BALL VALVE <u>Two Hundred Ninety Dollars, No Cents</u> (write Unit Price in words)	1,170	EACH	\$ 290.00	\$ 339,300.00
1.	H. RIGHT OF ENTRY NOT GRANTED <u>Forty Dollars, No Cents</u> (write Unit Price in words)	200	EACH	\$ 40.00	\$ 8,000.00
1.	I. ACCESS NOT PROVIDED <u>Forty Dollars, No Cents</u> (write Unit Price in words)	80	EACH	\$ 40.00	\$ 3,200.00
1.	J. CURB STOP IN CONCRETE <u>Two Hundred Fifty Dollars, No Cents</u> (write Unit Price in words)	400	EACH	\$ 250.00	\$ 100,000.00

PRICE SCHEDULE
TRENTON WATER WORKS
LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 1B
BID2019-13
BASE BID

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
1.	K. LONG-SIDE REPLACEMENT <u>Seven hundred Dollars, No Cents</u> (write Unit Price in words)	650	EACH	\$ 700.00	\$ 455,000.00
2.	TEST PIT AT CURB STOP <u>Seven hundred Dollars, No Cents</u> (write Unit Price in words)	300	EACH	\$ 700.00	\$ 210,000.00
3.	A. FINAL PAVEMENT RESTORATION (Infa-red) <u>One Dollar, No Cents</u> (write Unit Price in words)	950	SY	\$ 1.00	\$ 950.00
	B. FINAL PAVEMENT RESTORATION (Mill and Paving) <u>Twenty-Eight Dollars, No Cents</u> (write Unit Price in words)	6,000	SY	\$ 28.00	\$ 168,000.00
4.	MISCELLANEOUS WORK AT DIRECTION OF THE OWNER <u>ONE HUNDRED AND FIFTY THOUSAND DOLLARS</u> (write Unit Price in words)		ALLOWANCE	\$150,000	\$150,000
5.	TRAFFIC CONTROL <u>THREE HUNDRED AND FIFTY THOUSAND DOLLARS</u> (write Unit Price in words)		ALLOWANCE	\$350,000	\$350,000
6.	PERMITS <u>THREE HUNDRED THOUSAND DOLLARS</u> (write Unit Price in words)		ALLOWANCE	\$300,000	\$300,000
7.	ENVIRONMENTAL PROTECTION <u>ONE HUNDRED THOUSAND DOLLARS</u> (write Unit Price in words)		ALLOWANCE	\$100,000	\$100,000
TOTAL BID PRICE IN FIGURES (1 through 7)		\$ 7,452,610.00			
TOTAL BID PRICE IN WORDS (1 through 7)		\$ Seven Million, Four Hundred Fifty-Two Thousand, Six Hundred Ten Dollars, No cents			

PRICE SCHEDULE
TRENTON WATER WORKS
LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 1B
CONTRACT NO. 2019-13
SUPPLEMENTAL BID

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
S-1A.	LEAD SERVICE LINE EXCAVATION GREATER THAN 5 FEET <u>Twenty-Five Dollars, No Cents</u> (write Unit Price in words)	400	CY	\$ 25.00	\$ 10,000.00
S-2A.	IMPORTED COMMON FILL <u>Twenty Dollars, No Cents</u> (write Unit Price in words)	40	CY	\$ 20.00	\$ 800.00
S-2B.	CRUSHED STONE <u>Forty-Four Dollars, No Cents</u> (write Unit Price in words)	20	CY	\$ 44.00	\$ 880.00
S-2C.	DENSE-GRADED AGGREGATE <u>Forty-Four Dollars, No Cents</u> (write Unit Price in words)	40	CY	\$ 44.00	\$ 1,760.00
S-2D.	FLOWABLE FILL <u>One Hundred Sixty Dollars, No Cents</u> (write Unit Price in words)	10	CY	\$ 160.00	\$ 1,600.00
S-3A.	FINAL PAVEMENT CURB TO CURB <u>Twenty-Two Dollars, No Cents</u> (write Unit Price in words)	7,600	SY	\$ 22.00	\$ 167,200.00
S-3B.	INITIAL PAVEMENT RESTORATION WITH CONCRETE SUBBASE <u>Ninety-Five Dollars, No Cents</u> (write Unit Price in words)	60	SY	\$ 95.00	\$ 5,700.00
S-3C.	GRAVEL DRIVEWAY <u>One Hundred Dollars, No Cents</u> (write Unit Price in words)	30	SY	\$ 100.00	\$ 3,000.00
S-3D.	BRICK OR ROCK PAVERS <u>Two Hundred Eighty Dollars, No Cents</u> (write Unit Price in words)	20	SY	\$ 280.00	\$ 5,600.00
S-3E	ASPHALT PRICE ADJUSTMENT <u>TWO THOUSAND DOLLARS</u> (write Unit Price in words)		ALLOWANCE	\$2,000	\$2,000
S-4.	MISC. CONCRETE <u>One Hundred Fifty Dollars, No Cents</u> (write Unit Price in words)	20	CY	\$ 150.00	\$ 3,000.00
TOTAL SUPPLEMENTAL PRICE IN FIGURES (S-1 through S-4)		\$ 201,540.00			
TOTAL SUPPLEMENTAL PRICE IN WORDS (S-1 through S-4)		\$ Two Hundred One Thousand, Five Hundred Forty Dollars, No Cents			
TOTAL BASE BID PRICE PLUS SUPPLEMENTAL PRICE IN FIGURES		\$ 7,645,150.00 <i>\$ 7,645,150.00</i>			
TOTAL BASE BID PRICE PLUS SUPPLEMENTAL PRICE IN WORDS		\$ Seven Million, Six Hundred Forty-Five Thousand, One Hundred Fifty Dollars, No Cents			

Contract award will be based on the total of the base bid price plus all supplemental bid items, even if some or all of the supplemental bid items are not ultimately included in the contract.

**PROVIDE A LIST SUB-CONTRACTORS
COPY OF LICENSES SUBMITTED WITH BID (MANDATORY)**

NAME Gerard Capasso
ADDRESS 78 Old Bloomfield Ave, Pine Brook, NJ 07058
CITY, STATE, ZIP _____
TELEPHONE: 973 673 3346
FAX NO. 973 599 9746
TRADE Plumbing
LICENSE NO. 36 B1 00837000 - attached

NAME _____
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. _____

NAME _____
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. _____

NAME _____
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. _____

NAME _____
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. _____

South State, Inc.

2

BID2019-13 (Phase 1B)

PRICE SCHEDULE
 TRENTON WATER WORKS
 LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 1B
 BID2019-13
 BASE BID

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
1. A1.	WATER SERVICE FULL REPLACEMENT TYPE 1 (FULL - MAIN TO CURB STOP - TWW-OWNED PORTION OF A FULL REPLACEMENT)	1,170	EACH		
	<u>Seven hundred Fifty dollars</u> (write Unit Price in words)			\$ 750.00	\$ 877,500.00
1. A2.	WATER SERVICE FULL REPLACEMENT TYPE 1 (FULL - CURB STOP TO METER - CUSTOMER-OWNED PORTION OF A FULL REPLACEMENT)	1,170	EACH		
	<u>Three thousand two hundred Fifty dollars</u> (write Unit Price in words)			\$ 3,250.00	\$ 3,802,500.00
1. B.	WATER SERVICE PARTIAL REPLACEMENT TYPE 2 (MAIN TO CURB STOP - TWW-OWNED PORTION - PARTIAL ONLY)	130	EACH		
	<u>Three thousand nine hundred dollars</u> (write Unit Price in words)			\$ 3,900.00	\$ 507,000.00
1. C.	WATER SERVICE PARTIAL REPLACEMENT TYPE 3 (CURB STOP TO METER - CUSTOMER-OWNED PORTION - PARTIAL ONLY)	100	EACH		
	<u>Nine hundred dollars</u> (write Unit Price in words)			\$ 900.00	\$ 90,000.00
1. D.	NEW CURB STOP AT MAIN	325	EACH		
	<u>Five hundred dollars</u> (write Unit Price in words)			\$ 500.00	\$ 162,500.00
	TRANSFER WATER SERVICE CONNECTION TO NEW/LARGER WATER				
1. E. MAIN		30	EACH		
	<u>One thousand one hundred fifty dollars</u> (write Unit Price in words)			\$ 1,150.00	\$ 34,500.00
1. F.	WATER METER REPLACEMENT	650	EACH		
	<u>Three hundred dollars</u> (write Unit Price in words)			\$ 300.00	\$ 195,000.00
1. G.	BALL VALVE	1,170	EACH		
	<u>One hundred sixty-five dollars</u> (write Unit Price in words)			\$ 165.00	\$ 193,050.00
1. H.	RIGHT OF ENTRY NOT GRANTED	200	EACH		
	<u>One hundred sixty-five dollars</u> (write Unit Price in words)			\$ 165.00	\$ 33,000.00
1. I.	ACCESS NOT PROVIDED	80	EACH		
	<u>Three hundred twenty-five dollars</u> (write Unit Price in words)			\$ 325.00	\$ 26,000.00
1. J.	CURB STOP IN CONCRETE	400	EACH		
	<u>Five hundred dollars</u> (write Unit Price in words)			\$ 500.00	\$ 200,000.00

2

PRICE SCHEDULE
TRENTON WATER WORKS
LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 1B
BID2019-13
BASE BID

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
1.	K. LONG-SIDE REPLACEMENT <u>One thousand seventy-five dollars</u> (write Unit Price in words)	650	EACH	\$ 1,075.00	\$ 678,750.00
2.	TEST PIT AT CURB STOP <u>Five hundred dollars</u> (write Unit Price in words)	300	EACH	\$ 500.00	\$ 150,000.00
3.	A. FINAL PAVEMENT RESTORATION (Infa-red) <u>Fifty dollars</u> (write Unit Price in words)	950	SY	\$ 50.00	\$ 47,500.00
	B. FINAL PAVEMENT RESTORATION (Mill and Paving) <u>Forty-three dollars</u> (write Unit Price in words)	6,000	SY	\$ 43.00	\$ 258,000.00
4.	MISCELLANEOUS WORK AT DIRECTION OF THE OWNER <u>ONE HUNDRED AND FIFTY THOUSAND DOLLARS</u> (write Unit Price in words)		ALLOWANCE	\$150,000	\$150,000
5.	TRAFFIC CONTROL <u>THREE HUNDRED AND FIFTY THOUSAND DOLLARS</u> (write Unit Price in words)		ALLOWANCE	\$350,000	\$350,000
6.	PERMITS <u>THREE HUNDRED THOUSAND DOLLARS</u> (write Unit Price in words)		ALLOWANCE	\$300,000	\$300,000
7.	ENVIRONMENTAL PROTECTION <u>ONE HUNDRED THOUSAND DOLLARS</u> (write Unit Price in words)		ALLOWANCE	\$100,000	\$100,000
TOTAL BID PRICE IN FIGURES (1 through 7)		\$ 8,175,300.00			
TOTAL BID PRICE IN WORDS (1 through 7)		\$ <u>Eight million one hundred seventy-five</u> <u>thousand three hundred dollars</u>			

PRICE SCHEDULE
TRENTON WATER WORKS
LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 1B
CONTRACT NO. 2019-13
SUPPLEMENTAL BID

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
S-1A.	LEAD SERVICE LINE EXCAVATION GREATER THAN 5 FEET <u>Fifty dollars</u> (write Unit Price in words)	400	CY	\$ 50.00	\$ 20,000.00
S-2A.	IMPORTED COMMON FILL <u>Thirty dollars</u> (write Unit Price in words)	40	CY	\$ 30.00	\$ 1,200.00
S-2B.	CRUSHED STONE <u>Fifty dollars</u> (write Unit Price in words)	20	CY	\$ 50.00	\$ 1,000.00
S-2C.	DENSE-GRADED AGGREGATE <u>Fifty dollars</u> (write Unit Price in words)	40	CY	\$ 50.00	\$ 2,000.00
S-2D.	FLOWABLE FILL <u>One hundred twenty-five dollars</u> (write Unit Price in words)	10	CY	\$ 125.00	\$ 1,250.00
S-3A.	FINAL PAVEMENT CURB TO CURB <u>Thirty-one dollars</u> (write Unit Price in words)	7,600	SY	\$ 21.08	\$ 159,600.00
S-3B.	INITIAL PAVEMENT RESTORATION WITH CONCRETE SUBBASE <u>Five hundred fifty dollars</u> (write Unit Price in words)	60	SY	\$ 550.00	\$ 33,000.00
S-3C.	GRAVEL DRIVEWAY <u>One hundred fifty dollars</u> (write Unit Price in words)	30	SY	\$ 150.00	\$ 4,500.00
S-3D.	BRICK OR ROCK PAVERS <u>Two hundred seventy-five dollars</u> (write Unit Price in words)	20	SY	\$ 275.00	\$ 5,500.00
S-3E	ASPHALT PRICE ADJUSTMENT <u>TWO THOUSAND DOLLARS</u> (write Unit Price in words)		ALLOWANCE	\$ 2,000	\$ 2,000
S-4.	MISC. CONCRETE <u>One thousand four hundred dollars</u> (write Unit Price in words)	20	CY	\$ 1,400.00	\$ 28,000.00
TOTAL SUPPLEMENTAL PRICE IN FIGURES (S-1 through S-4)		\$ 258,050.00			
TOTAL SUPPLEMENTAL PRICE IN WORDS (S-1 through S-4)		\$ <u>Two hundred fifty-eight thousand fifty dollars</u>			
TOTAL BASE BID PRICE PLUS SUPPLEMENTAL PRICE IN FIGURES		\$ 8,433,350.00			
TOTAL BASE BID PRICE PLUS SUPPLEMENTAL PRICE IN WORDS		\$ <u>Eight million four hundred thirty-three thousand three hundred fifty dollars</u>			

Contract award will be based on the total of the base bid price plus all supplemental bid items, even if some or all of the supplemental bid items are not ultimately included in the contract.

**PROVIDE A LIST SUB-CONTRACTORS
COPY OF LICENSES SUBMITTED WITH BID (MANDATORY)**

NAME Cooper Plumbing & Mechanical LLC
ADDRESS 40 Patterson Ave
CITY, STATE, ZIP Hamilton NJ 08610
TELEPHONE: 609. 586. 1813
FAX NO. 609. 586. 1814
TRADE Plumbing
LICENSE NO. 36B101079000

NAME _____
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. _____

NAME _____
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. _____

NAME _____
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. _____

NAME _____
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. _____

PRICE SCHEDULE
TRENTON WATER WORKS
LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 1B
BID2019-13
BASE BID

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
1.	A1. WATER SERVICE FULL REPLACEMENT TYPE 1 (FULL - MAIN TO CURB STOP - TWW-OWNED PORTION OF A FULL REPLACEMENT) <u>Two Thousand Seven Hundred Dollars</u> (write Unit Price in words)	1,170	EACH	\$ 2,700.00	\$ 3,159,000.00
1.	A2. WATER SERVICE FULL REPLACEMENT TYPE 1 (FULL - CURB STOP TO METER - CUSTOMER-OWNED PORTION OF A FULL REPLACEMENT) <u>Three Thousand Dollars</u> (write Unit Price in words)	1,170	EACH	\$ 3,000.00	\$ 3,510,000.00
1.	B. WATER SERVICE PARTIAL REPLACEMENT TYPE 2 (MAIN TO CURB STOP - TWW-OWNED PORTION - PARTIAL ONLY) <u>Two Thousand Seven Hundred Dollars</u> (write Unit Price in words)	130	EACH	\$ 2,800.00	\$ 364,000.00
1.	C. WATER SERVICE PARTIAL REPLACEMENT TYPE 3 (CURB STOP TO METER - CUSTOMER-OWNED PORTION - PARTIAL ONLY) <u>Three Thousand Three Hundred Dollars</u> (write Unit Price in words)	100	EACH	\$ 3,300.00	\$ 330,000.00
1.	D. NEW CORP STOP AT MAIN <u>One Thousand Two Hundred Dollars</u> (write Unit Price in words)	325	EACH	\$ 1,200.00	\$ 390,000.00
1.	TRANSFER WATER SERVICE CONNECTION TO NEW/LARGER WATER E. MAIN <u>Two Thousand Seven Hundred Dollars</u> (write Unit Price in words)	30	EACH	\$ 2,700.00	\$ 81,000.00
1.	F. WATER METER REPLACEMENT <u>Six Hundred Dollars</u> (write Unit Price in words)	650	EACH	\$ 600.00	\$ 390,000.00
1.	G. BALL VALVE <u>Thirty Three Dollars</u> (write Unit Price in words)	1,170	EACH	\$ 33.00	\$ 38,610.00
1.	H. RIGHT OF ENTRY NOT GRANTED <u>Three Hundred Forty Dollars</u> (write Unit Price in words)	200	EACH	\$ 340.00	\$ 68,000.00
1.	I. ACCESS NOT PROVIDED <u>One Thousand Seven Hundred Dollars</u> (write Unit Price in words)	80	EACH	\$ 1,700.00	\$ 136,000.00
1.	J. CURB STOP IN CONCRETE <u>Six Hundred Ten Dollars</u> (write Unit Price in words)	400	EACH	\$ 610.00	\$ 244,000.00

PRICE SCHEDULE
TRENTON WATER WORKS
LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 1B
BID2019-13
BASE BID

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
1.	K. LONG-SIDE REPLACEMENT <u>Seven Hundred Ninety Dollars</u> (write Unit Price in words)	650	EACH	\$ 790.00	\$ 513,500.00
2.	TEST PIT AT CURB STOP <u>Six Hundred Eighty Dollars</u> (write Unit Price in words)	300	EACH	\$ 680.00	\$ 204,000.00
3.	A. FINAL PAVEMENT RESTORATION (Infa-red) <u>Forty One Dollars</u> (write Unit Price in words)	950	SY	\$ 41.00	\$ 38,950.00
	B. FINAL PAVEMENT RESTORATION (Mill and Paving) <u>Twenty Eight Dollars</u> (write Unit Price in words)	6,000	SY	\$ 28.00	\$ 168,000.00
4.	MISCELLANEOUS WORK AT DIRECTION OF THE OWNER <u>One Hundred And Fifty Thousand Dollars</u> (write Unit Price in words)		ALLOWANCE	\$150,000	\$150,000
5.	TRAFFIC CONTROL <u>Three Hundred And Fifty Thousand Dollars</u> (write Unit Price in words)		ALLOWANCE	\$350,000	\$350,000
6.	PERMITS <u>Three Hundred Thousand Dollars</u> (write Unit Price in words)		ALLOWANCE	\$300,000	\$300,000
7.	ENVIRONMENTAL PROTECTION <u>One Hundred Thousand Dollars</u> (write Unit Price in words)		ALLOWANCE	\$100,000	\$100,000
TOTAL BID PRICE IN FIGURES (1 through 7)		\$ 10,535,060.00			
TOTAL BID PRICE IN WORDS (1 through 7)		\$ Ten Million Five Hundred Thirty Five Thousand Sixty Dollars			

PRICE SCHEDULE
TRENTON WATER WORKS
LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 1B
CONTRACT NO. 2019-13
SUPPLEMENTAL BID

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
S-1A.	LEAD SERVICE LINE EXCAVATION GREATER THAN 5 FEET <u>Two Hundred Eighty Seven Dollars And Sixty Cents</u> (write Unit Price in words)	400	CY	\$ 287.60	\$ 115,040.00
S-2A.	IMPORTED COMMON FILL <u>Thirty Seven Dollars</u> (write Unit Price in words)	40	CY	\$ 37.00	\$ 1,480.00
S-2B.	CRUSHED STONE <u>Fifty Three Dollars</u> (write Unit Price in words)	20	CY	\$ 53.00	\$ 1,060.00
S-2C.	DENSE-GRADED AGGREGATE <u>Thirty Nine Dollars</u> (write Unit Price in words)	40	CY	\$ 39.00	\$ 1,560.00
S-2D.	FLOWABLE FILL <u>Three Hundred Thirty Dollars</u> (write Unit Price in words)	10	CY	\$ 330.00	\$ 3,300.00
S-3A.	FINAL PAVEMENT CURB TO CURB <u>Twenty One Dollars</u> (write Unit Price in words)	7,600	SY	\$ 21.00	\$ 159,600.00
S-3B.	INITIAL PAVEMENT RESTORATION WITH CONCRETE SUBBASE <u>Forty One Dollars</u> (write Unit Price in words)	60	SY	\$ 41.00	\$ 2,460.00
S-3C.	GRAVEL DRIVEWAY <u>Twenty Eight Dollars</u> (write Unit Price in words)	30	SY	\$ 28.00	\$ 840.00
S-3D.	BRICK OR ROCK PAVERS <u>Two Hundred Dollars</u> (write Unit Price in words)	20	SY	\$ 200.00	\$ 4,000.00
S-3E	ASPHALT PRICE ADJUSTMENT <u>TWO THOUSAND DOLLARS</u> (write Unit Price in words)		ALLOWANCE	\$ 2,000	\$ 2,000
S-4.	MISC. CONCRETE <u>Three Hundred Thirty Dollars</u> (write Unit Price in words)	20	CY	\$ 330.00	\$ 6,600.00
TOTAL SUPPLEMENTAL PRICE IN FIGURES (S-1 through S-4)		\$ 297,940.00			
TOTAL SUPPLEMENTAL PRICE IN WORDS (S-1 through S-4)		\$ <u>Two hundred Ninety Seven Thousand Nine Hundred Forty Dollars</u>			
TOTAL BASE BID PRICE PLUS SUPPLEMENTAL PRICE IN FIGURES		\$ 10,833,000.00			
TOTAL BASE BID PRICE PLUS SUPPLEMENTAL PRICE IN WORDS		\$ <u>Ten Million Eight Hundred Thirty Three Thousand Dollars</u>			

Contract award will be based on the total of the base bid price plus all supplemental bid items, even if some or all of the supplemental bid items are not ultimately included in the contract.

PROVIDE A LIST SUB-CONTRACTORS
COPY OF LICENSES SUBMITTED WITH BID (MANDATORY)

NAME William J. Cavarini, Inc.
ADDRESS 132 Mallory Avenue
CITY, STATE, ZIP Jersey City, NJ 07304
TELEPHONE: 201. 656. 1530
FAX NO.
TRADE Plumbing
LICENSE NO. 19HC00092800

NAME Modern Construction, Inc.
ADDRESS 25020 Matsa Drive
CITY, STATE, ZIP Toms River, NJ 08753
TELEPHONE: 732. 929. 2727
FAX NO.
TRADE Paving
LICENSE NO. N/A

NAME _____
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. _____

NAME _____
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. _____

NAME _____
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. _____

PRICE SCHEDULE
TRENTON WATER WORKS
LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 1B
BID2019-13
BASE BID

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
1.	A1. WATER SERVICE FULL REPLACEMENT TYPE 1 (FULL - MAIN TO CURB STOP - TWW-OWNED PORTION OF A FULL REPLACEMENT) <i>Thirty - Eight Hundred Dollars</i> (write Unit Price in words)	1,170	EACH	\$ 3,800.00	4,446,000.00
1.	A2. WATER SERVICE FULL REPLACEMENT TYPE 1 (FULL - CURB STOP TO METER - CUSTOMER-OWNED PORTION OF A FULL REPLACEMENT) <i>Thirty - One Hundred Dollars</i> (write Unit Price in words)	1,170	EACH	\$ 3,800.00	4,329,000.00 R.C.P.
1.	B. WATER SERVICE PARTIAL REPLACEMENT TYPE 2 (MAIN TO CURB STOP - TWW-OWNED PORTION - PARTIAL ONLY) <i>Thirty - Seven Hundred Dollars</i> (write Unit Price in words)	130	EACH	\$ 3,100.00	362,700.00
1.	C. WATER SERVICE PARTIAL REPLACEMENT TYPE 3 (CURB STOP TO METER - CUSTOMER-OWNED PORTION - PARTIAL ONLY) <i>Thirty - One Hundred Dollars</i> (write Unit Price in words)	100	EACH	\$ 3,800.00	380,000.00 R.C.P.
1.	D. NEW CURB STOP AT MAIN <i>One Hundred Dollars</i> (write Unit Price in words)	325	EACH	\$ 3,100.00	310,000.00
1.	E. MAIN <i>One Hundred Dollars</i> (write Unit Price in words)	30	EACH	\$ 100.00	3,250.00
1.	F. WATER METER REPLACEMENT <i>One Hundred Dollars</i> (write Unit Price in words)	650	EACH	\$ 100.00	3,000.00
1.	G. BALL VALVE <i>One Hundred Dollars</i> (write Unit Price in words)	1,170	EACH	\$ 100.00	65,000.00
1.	H. RIGHT OF ENTRY NOT GRANTED <i>One Hundred Dollars</i> (write Unit Price in words)	200	EACH	\$ 100.00	17,000.00
1.	I. ACCESS NOT PROVIDED <i>One Hundred Dollars</i> (write Unit Price in words)	80	EACH	\$ 100.00	2,000.00
1.	J. CURB STOP IN CONCRETE <i>One Hundred Dollars</i> (write Unit Price in words)	400	EACH	\$ 100.00	9,000.00

PRICE SCHEDULE
TRENTON WATER WORKS
LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 1B
BID2019-13
BASE BID

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
1.	K. LONG-SIDE REPLACEMENT <u>One Hundred Dollars</u> (write Unit Price in words)	650	EACH	\$ 100.00	\$ 65,000.00
2.	TEST PIT AT CURB STOP <u>One Hundred Dollars</u> (write Unit Price in words)	300	EACH	\$ 100.00	\$ 30,000.00
3.	A. FINAL PAVEMENT RESTORATION (Intra-red) <u>Eighty - One Thousand</u> (write Unit Price in words)	950	SY	\$ 95.00	\$ 80,750.00
	B. FINAL PAVEMENT RESTORATION (Mill and Paving) <u>Ninety - One Thousand</u> (write Unit Price in words)	6,000	SY	\$ 90.00	\$ 540,000.00
4.	MISCELLANEOUS WORK AT DIRECTION OF THE OWNER <u>ONE HUNDRED AND FIFTY THOUSAND DOLLARS</u> (write Unit Price in words)		ALLOWANCE	\$150,000	\$150,000
5.	TRAFFIC CONTROL <u>THREE HUNDRED AND FIFTY THOUSAND DOLLARS</u> (write Unit Price in words)		ALLOWANCE	\$350,000	\$350,000
6.	PERMITS <u>THREE HUNDRED THOUSAND DOLLARS</u> (write Unit Price in words)		ALLOWANCE	\$300,000	\$300,000
7.	ENVIRONMENTAL PROTECTION <u>ONE HUNDRED THOUSAND DOLLARS</u> (write Unit Price in words)		ALLOWANCE	\$100,000	\$100,000

TOTAL BID PRICE IN FIGURES (1 through 7)

\$ 10,778,250.00

TOTAL BID PRICE IN WORDS (1 through 7)

Ten Million - Seven Hundred
Sixty - Eight Thousand
Two - Hundred & Sixty

PRICE SCHEDULE
TRENTON WATER WORKS
LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 1B
CONTRACT NO. 2019-13
SUPPLEMENTAL BID

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
S-1A.	LEAD SERVICE LINE EXCAVATION GREATER THAN 5 FEET <i>One Dols</i> (write Unit Price in words)	400	CY	\$ 1.00	\$ 400.00
S-2A.	IMPORTED COMMON FILL <i>One Doller</i> (write Unit Price in words)	40	CY	\$ 1.00	\$ 40.00
S-2B.	CRUSHED STONE <i>One Doller</i> (write Unit Price in words)	20	CY	\$ 1.00	\$ 20.00
S-2C.	DENSE-GRADED AGGREGATE <i>One Doller</i> (write Unit Price in words)	40	CY	\$ 1.00	\$ 40.00
S-2D.	FLOWABLE FILL <i>One Hundred Dols</i> (write Unit Price in words)	10	CY	\$ 1.00	\$ 40.00
S-3A.	FINAL PAVEMENT CURB TO CURB <i>Twenty Two Dols</i> (write Unit Price in words)	7,600	SY	\$ 25.00	\$ 190,000.00
S-3B.	INITIAL PAVEMENT RESTORATION WITH CONCRETE SUBBASE <i>One Hundred One Dols</i> (write Unit Price in words)	60	SY	\$ 100.00	\$ 6,000.00
S-3C.	GRAVEL DRIVEWAY <i>One Dols</i> (write Unit Price in words)	30	SY	\$ 1.00	\$ 30.00
S-3D.	BRICK OR ROCK PAVERS <i>One Hundred Tress</i> (write Unit Price in words)	20	SY	\$ 100.00	\$ 2,000.00
S-3E	ASPHALT PRICE ADJUSTMENT TWO THOUSAND DOLLARS (write Unit Price in words)		ALLOWANCE	\$ 2,000	\$ 2,000
S-4.	MISC. CONCRETE <i>One Hundred Dols</i> (write Unit Price in words)	20	CY	\$ 100.00	\$ 2,000.00
TOTAL SUPPLEMENTAL PRICE IN FIGURES (S-1 through S-4)		\$ 203,530.00			
TOTAL SUPPLEMENTAL PRICE IN WORDS (S-1 through S-4)		\$ Two Hundred - Three Thousand Two Hundred Thirty Dollars			
TOTAL BASE BID PRICE PLUS SUPPLEMENTAL PRICE IN FIGURES		\$ 10,961,750.00			
TOTAL BASE BID PRICE PLUS SUPPLEMENTAL PRICE IN WORDS		\$ Ten Million - Nine Hundred Eighty One Thousands - Seven Hundred - Eighty Dollars			

Contract award will be based on the total of the base bid price plus all supplemental bid items, even if some or all of the supplemental bid items are not ultimately included in the contract.

Thomas - Seven Hundred - Eighty Dollars

PROVIDE A LIST SUB-CONTRACTORS
COPY OF LICENSES SUBMITTED WITH BID (MANDATORY)

NAME Dan Bernoski First Class Plumbing and Heating, LLC
 ADDRESS 134 Palmer Lane
 CITY, STATE, ZIP Trenton NJ 08618
 TELEPHONE: 609.771.8842
 FAX NO. 609.771.0663
 TRADE Plumbing Lic 12229
 LICENSE NO. 0400687134 EIN: 204041631

NAME _____
 ADDRESS _____
 CITY, STATE, ZIP _____
 TELEPHONE: _____
 FAX NO. _____
 TRADE _____
 LICENSE NO. _____

NAME _____
 ADDRESS _____
 CITY, STATE, ZIP _____
 TELEPHONE: _____
 FAX NO. _____
 TRADE _____
 LICENSE NO. _____

NAME _____
 ADDRESS _____
 CITY, STATE, ZIP _____
 TELEPHONE: _____
 FAX NO. _____
 TRADE _____
 LICENSE NO. _____

NAME _____
 ADDRESS _____
 CITY, STATE, ZIP _____
 TELEPHONE: _____
 FAX NO. _____
 TRADE _____
 LICENSE NO. _____

6

PRICE SCHEDULE
TRENTON WATER WORKS
LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 1B
BID2019-13
BASE BID

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
1.	A1. WATER SERVICE FULL REPLACEMENT TYPE 1 (FULL - MAIN TO CURB STOP - TWW-OWNED PORTION OF A FULL REPLACEMENT) <i>Three Thousand Four Hundred Dollars</i> (write Unit Price in words)	1,170	EACH	\$ 3400	\$ 3,988,000
1.	A2. WATER SERVICE FULL REPLACEMENT TYPE 1 (FULL - CURB STOP TO METER - CUSTOMER-OWNED PORTION OF A FULL REPLACEMENT) <i>Four Thousand One Hundred Dollars</i> (write Unit Price in words)	1,170	EACH	\$ 4,100	\$ 4,791,000
1.	B. WATER SERVICE PARTIAL REPLACEMENT TYPE 2 (MAIN TO CURB STOP - TWW-OWNED PORTION - PARTIAL ONLY) <i>One thousand Four Hundred and Sixty Dollars</i> (write Unit Price in words)	130	EACH	\$ 1460	\$ 189,800
1.	C. WATER SERVICE PARTIAL REPLACEMENT TYPE 3 (CURB STOP TO METER - CUSTOMER-OWNED PORTION - PARTIAL ONLY) <i>Two Thousand Seven Hundred Dollars</i> (write Unit Price in words)	100	EACH	\$ 2,700	\$ 270,000
1.	D. NEW CURB STOP AT MAIN	325	EACH	\$ 1,920	\$ 624,000
1.	TRANSFER WATER SERVICE CONNECTION TO NEW/LARGER WATER E. MAIN <i>Four Thousand Six Hundred Dollars</i> (write Unit Price in words)	30	EACH	\$ 7,600	\$ 228,000
1.	F. WATER METER REPLACEMENT <i>Three Hundred and Sixty Dollars</i> (write Unit Price in words)	650	EACH	\$ 360	\$ 234,000
1.	G. BALL VALVE <i>Two Hundred and Fifty Four Dollars</i> (write Unit Price in words)	1,170	EACH	\$ 254	\$ 297,190
1.	H. RIGHT OF ENTRY NOT GRANTED <i>One Hundred and Twenty Eight Dollars</i> (write Unit Price in words)	200	EACH	\$ 128	\$ 25,600
1.	I. ACCESS NOT PROVIDED <i>One Hundred and Twenty Eight Dollars</i> (write Unit Price in words)	80	EACH	\$ 128	\$ 10,240
1.	J. CURB STOP IN CONCRETE <i>Five Hundred Eighty Four</i> (write Unit Price in words)	400	EACH	\$ 584	\$ 233,600

PRICE SCHEDULE
TRENTON WATER WORKS
LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 1B
BID2019-13
BASE BID

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
1.	K. LONG-SIDE REPLACEMENT <u>Six Hundred and Eighty Eight Dollars</u> (write Unit Price in words)	650	EACH	\$ 688	\$ 447,200
2.	TEST PIT AT CURB STOP <u>Five Hundred Dollars</u> (write Unit Price in words)	300	EACH	\$ 500	\$ 150,000
3.	A. FINAL PAVEMENT RESTORATION (Infa-red) <u>Fifty Two Dollars</u> (write Unit Price in words)	950	SY	\$ 52	\$ 49,500
	B. FINAL PAVEMENT RESTORATION (Mill and Paving) <u>Forty Dollars</u> (write Unit Price in words)	6,000	SY	\$ 40	\$ 240,000
4.	MISCELLANEOUS WORK AT DIRECTION OF THE OWNER <u>ONE HUNDRED AND FIFTY THOUSAND DOLLARS</u> (write Unit Price in words)		ALLOWANCE	\$150,000	\$150,000
5.	TRAFFIC CONTROL <u>THREE HUNDRED AND FIFTY THOUSAND DOLLARS</u> (write Unit Price in words)		ALLOWANCE	\$350,000	\$350,000
6.	PERMITS <u>THREE HUNDRED THOUSAND DOLLARS</u> (write Unit Price in words)		ALLOWANCE	\$300,000	\$300,000
7.	ENVIRONMENTAL PROTECTION <u>ONE HUNDRED THOUSAND DOLLARS</u> (write Unit Price in words)		ALLOWANCE	\$100,000	\$100,000
TOTAL BID PRICE IN FIGURES (1 through 7)		\$ 12,674,020			
TOTAL BID PRICE IN WORDS (1 through 7)		\$ <u>Twelve Million, Six Hundred and Sixty Four Thousand and Twenty Dollars</u>			

PRICE SCHEDULE
TRENTON WATER WORKS
LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 1B
CONTRACT NO. 2019-13
SUPPLEMENTAL BID

Bid

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
S-1A.	LEAD SERVICE LINE EXCAVATION GREATER THAN 5 FEET (write Unit Price in words)	400	CY	\$ 24 ⁰⁰	\$ 9,600
S-2A.	IMPORTED COMMON FILL (write Unit Price in words)	40	CY	\$ 100 ⁰⁰	\$ 4,000
S-2B.	CRUSHED STONE (write Unit Price in words)	20	CY	\$ 107 ⁰⁰	\$ 2,140
S-2C.	DENSE-GRADED AGGREGATE (write Unit Price in words)	40	CY	\$ 107 ⁰⁰	\$ 4,280
S-2D.	FLOWABLE FILL (write Unit Price in words)	10	CY	\$ 150 ⁰⁰	\$ 1,500
S-3A.	FINAL PAVEMENT CURB TO CURB (write Unit Price in words)	7,600	SY	\$ 12 ⁰⁰	\$ 91,200
S-3B.	INITIAL PAVEMENT RESTORATION WITH CONCRETE SUBBASE (write Unit Price in words)	60	SY	\$ 104 ⁰⁰	\$ 6,240
S-3C.	GRAVEL DRIVEWAY (write Unit Price in words)	30	SY	\$ 107 ⁰⁰	\$ 3,210
S-3D.	BRICK OR ROCK PAVERS (write Unit Price in words)	20	SY	\$ 115 ⁰⁰	\$ 2,300
S-3E	ASPHALT PRICE ADJUSTMENT TWO THOUSAND DOLLARS (write Unit Price in words)		ALLOWANCE	\$2,000	\$2,000
S-4.	MISC. CONCRETE (write Unit Price in words)	20	CY	\$ 150 ⁰⁰	\$ 3,000
TOTAL SUPPLEMENTAL PRICE IN FIGURES (S-1 through S-4)		\$ 129,470			
TOTAL SUPPLEMENTAL PRICE IN WORDS (S-1 through S-4)		\$ One Hundred Twenty Nine Thousand Four Hundred Seventy Dollars			
TOTAL BASE BID PRICE PLUS SUPPLEMENTAL PRICE IN FIGURES		\$ 12,749,590			
TOTAL BASE BID PRICE PLUS SUPPLEMENTAL PRICE IN WORDS		\$ Twelve Million Eight Hundred and Thirty			

Contract award will be based on the total of the base bid price plus all supplemental bid items, even if some or all of the supplemental bid items are not ultimately included in the contract.

For Hatch and May Brothers

12,803,490

Addendum No. 3

MR

PRICE SCHEDULE
TRENTON WATER WORKS
LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 1B
CONTRACT NO. 2019-13
SUPPLEMENTAL BID

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
S-1A.	LEAD SERVICE LINE EXCAVATION GREATER THAN 5 FEET <i>Twenty Four Dollars</i> (write Unit Price in words)	400	CY	\$ 24 ⁰⁰	\$ 9,600
S-2A.	IMPORTED COMMON FILL <i>One Hundred Dollars</i> (write Unit Price in words)	40	CY	\$ 100 ⁰⁰	\$ 4,000
S-2B.	CRUSHED STONE <i>One Hundred and Seven Dollars</i> (write Unit Price in words)	20	CY	\$ 107 ⁰⁰	\$ 2,140 ⁰⁰
S-2C.	DENSE-GRADED AGGREGATE <i>One Hundred and Seven Dollars</i> (write Unit Price in words)	40	CY	\$ 107 ⁰⁰	\$ 4,280 ⁰⁰
S-2D.	FLOWABLE FILL <i>One Hundred and Fifty Dollars</i> (write Unit Price in words)	10	CY	\$ 150 ⁰⁰	\$ 1,500 ⁰⁰
S-3A.	FINAL PAVEMENT CURB TO CURB <i>Twelve Dollars</i> (write Unit Price in words)	7,600	SY	\$ 12 ⁰⁰	\$ 91,200 ⁰⁰
S-3B.	INITIAL PAVEMENT RESTORATION WITH CONCRETE SUBBASE <i>One Hundred and Sixty Dollars</i> (write Unit Price in words)	60	SY	\$ 104 ⁰⁰	\$ 6,240 ⁰⁰
S-3C.	GRAVEL DRIVEWAY <i>One Hundred and Seven Dollars</i> (write Unit Price in words)	30	SY	\$ 107 ⁰⁰	\$ 3,210 ⁰⁰
S-3D.	BRICK OR ROCK PAVERS <i>One Hundred and Fifteen Dollars</i> (write Unit Price in words)	20	SY	\$ 115 ⁰⁰	\$ 2,300 ⁰⁰
S-3E	ASPHALT PRICE ADJUSTMENT TWO THOUSAND DOLLARS (write Unit Price in words)		ALLOWANCE	\$2,000	\$2,000
S-4.	MISC. CONCRETE <i>One Hundred and Fifty Dollars</i> (write Unit Price in words)	20	CY	\$ 150 ⁰⁰	\$ 3000 ⁰⁰
TOTAL SUPPLEMENTAL PRICE IN FIGURES (S-1 through S-4)		\$			
TOTAL SUPPLEMENTAL PRICE IN WORDS (S-1 through S-4)		\$			
TOTAL BASE BID PRICE PLUS SUPPLEMENTAL PRICE IN FIGURES		\$			
TOTAL BASE BID PRICE PLUS SUPPLEMENTAL PRICE IN WORDS		\$			

Contract award will be based on the total of the base bid price plus all supplemental bid items, even if some or all of the supplemental bid items are not ultimately included in the contract.

**PROVIDE A LIST SUB-CONTRACTORS
COPY OF LICENSES SUBMITTED WITH BID (MANDATORY)**

NAME _____
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. _____

NAME PURDY MECHANICAL
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. SEE ATTACHED

NAME _____
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. _____

NAME _____
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. _____

NAME _____
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. _____

PRICE SCHEDULE
TRENTON WATER WORKS
LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 1B
BID2019-13
BASE BID

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
1.	A1. WATER SERVICE FULL REPLACEMENT TYPE 1 (FULL - MAIN TO CURB STOP - TWW-OWNED PORTION OF A FULL REPLACEMENT)	1,170	EACH		
	Three Thousand Three Hundred Sixty Six Dollars and Zero Cents (write Unit Price in words)			<u>\$ 3,366.00</u>	<u>\$ 3,938,220.00</u>
1.	A2. WATER SERVICE FULL REPLACEMENT TYPE 1 (FULL - CURB STOP TO METER - CUSTOMER-OWNED PORTION OF A FULL REPLACEMENT)	1,170	EACH		
	Three Thousand Eight Hundred One Dollars and Thirty Cents (write Unit Price in words)			<u>\$ 3,801.30</u>	<u>\$ 4,447,521.00</u>
1.	B. WATER SERVICE PARTIAL REPLACEMENT TYPE 2 (MAIN TO CURB STOP - TWW-OWNED PORTION - PARTIAL ONLY)	130	EACH		
	Three Thousand Six Hundred Fifty Dollars and Seventy Five Cents (write Unit Price in words)			<u>\$ 3,650.75</u>	<u>\$ 474,597.50</u>
1.	C. WATER SERVICE PARTIAL REPLACEMENT TYPE 3 (CURB STOP TO METER - CUSTOMER-OWNED PORTION - PARTIAL ONLY)	100	EACH		
	Four Thousand Six Hundred Twenty Six Dollars and Five Cents (write Unit Price in words)			<u>\$ 4,626.05</u>	<u>\$ 462,605.00</u>
1.	D. NEW CURB STOP AT MAIN	325	EACH		
	One Hundred Twenty Dollars and Zero Cents (write Unit Price in words)			<u>\$ 120.00</u>	<u>\$ 39,000.00</u>
	TRANSFER WATER SERVICE CONNECTION TO NEW/LARGER WATER				
1.	E. MAIN	30	EACH		
	One Thousand Two Hundred Fifty Dollars and Zero Cents (write Unit Price in words)			<u>\$ 1,250.00</u>	<u>\$ 37,500.00</u>
1.	F. WATER METER REPLACEMENT	650	EACH		
	Eighty Seven Dollars and Sixty Cents (write Unit Price in words)			<u>\$ 87.60</u>	<u>\$ 56,940.00</u>
1.	G. BALL VALVE	1,170	EACH		
	Fifty Six Dollars and Seventy Five Cents (write Unit Price in words)			<u>\$ 56.75</u>	<u>\$ 66,397.50</u>
1.	H. RIGHT OF ENTRY NOT GRANTED	200	EACH		
	Fifty Five Dollars and Zero Cents (write Unit Price in words)			<u>\$ 55.00</u>	<u>\$ 11,000.00</u>
1.	I. ACCESS NOT PROVIDED	80	EACH		
	One Thousand Three Hundred Ten Dollars and Zero Cents (write Unit Price in words)			<u>\$ 1,310.00</u>	<u>\$ 104,800.00</u>
1.	J. CURB STOP IN CONCRETE	400	EACH		
	Seven Hundred Ninety Dollars and Zero Cents (write Unit Price in words)			<u>\$ 790.00</u>	<u>\$ 316,000.00</u>

PRICE SCHEDULE
TRENTON WATER WORKS
LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 1B
BID2019-13
BASE BID

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
1.	K. LONG-SIDE REPLACEMENT One Thousand Two Hundred Fifty Five Dollars and Zero Cents (write Unit Price in words)	650	EACH	\$ 1,255.00	\$ 815,750.00
2.	TEST PIT AT CURB STOP Five Hundred Fifty Five Dollars and Zero Cents (write Unit Price in words)	300	EACH	\$ 555.00	\$ 166,500.00
3.	A. FINAL PAVEMENT RESTORATION (Infa-red) One Hundred Eighty Seven Dollars and Eighty Cents (write Unit Price in words)	950	SY	\$ 187.80	\$ 178,410.00
	B. FINAL PAVEMENT RESTORATION (Mill and Paving) One Hundred Fifty Dollars and Zero Cents (write Unit Price in words)	6,000	SY	\$ 150.00	\$ 900,000.00
4.	MISCELLANEOUS WORK AT DIRECTION OF THE OWNER ONE HUNDRED AND FIFTY THOUSAND DOLLARS (write Unit Price in words)		ALLOWANCE	\$150,000	\$150,000
5.	TRAFFIC CONTROL THREE HUNDRED AND FIFTY THOUSAND DOLLARS (write Unit Price in words)		ALLOWANCE	\$350,000	\$350,000
6.	PERMITS THREE HUNDRED THOUSAND DOLLARS (write Unit Price in words)		ALLOWANCE	\$300,000	\$300,000
7.	ENVIRONMENTAL PROTECTION ONE HUNDRED THOUSAND DOLLARS (write Unit Price in words)		ALLOWANCE	\$100,000	\$100,000
TOTAL BID PRICE IN FIGURES (1 through 7)		\$ 12,915,241.00			
TOTAL BID PRICE IN WORDS (1 through 7)		\$ Twelve Million Nine Hundred Fifteen Thousand Two Hundred Forty One Dollars and Zero Cents			

PRICE SCHEDULE
TRENTON WATER WORKS
LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 1B
CONTRACT NO. 2019-13
SUPPLEMENTAL BID

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
S-1A.	LEAD SERVICE LINE EXCAVATION GREATER THAN 5 FEET Three Hundred Five Dollars and Zero Cents (write Unit Price in words)	400	CY	\$ 305.00	\$ 122,000.00
S-2A.	IMPORTED COMMON FILL Seventy Five Dollars and Fifty Cents (write Unit Price in words)	40	CY	\$ 75.50	\$ 3,020.00
S-2B.	CRUSHED STONE Eighty Nine Dollars and Sixty Cents (write Unit Price in words)	20	CY	\$ 89.60	\$ 1,792.00
S-2C.	DENSE-GRADED AGGREGATE Seventy Seven Dollars and Seventy Five Cents (write Unit Price in words)	40	CY	\$ 77.75	\$ 3,110.00
S-2D.	FLOWABLE FILL One Hundred Seventy Four Dollars and Ten Cents (write Unit Price in words)	10	CY	\$ 174.10	\$ 1,741.00
S-3A.	FINAL PAVEMENT CURB TO CURB Forty One Dollars and Forty Cents (write Unit Price in words)	7,600	SY	\$ 41.40	\$ 314,640.00
S-3B.	INITIAL PAVEMENT RESTORATION WITH CONCRETE SUBBASE One Hundred Two Dollars and Thirty Cents (write Unit Price in words)	60	SY	\$ 102.30	\$ 6,138.00
S-3C.	GRAVEL DRIVEWAY Thirteen Dollars and Seventy Cents (write Unit Price in words)	30	SY	\$ 13.70	\$ 411.00
S-3D.	BRICK OR ROCK PAVERS Thirty Three Dollars and Seventy Cents (write Unit Price in words)	20	SY	\$ 33.70	\$ 674.00
S-3E	ASPHALT PRICE ADJUSTMENT TWO THOUSAND DOLLARS (write Unit Price in words)		ALLOWANCE	\$2,000	\$2,000
S-4.	MISC. CONCRETE Eight Hundred Eleven Dollars and Thirty Cents (write Unit Price in words)	20	CY	\$ 811.30	\$ 16,226.00
TOTAL SUPPLEMENTAL PRICE IN FIGURES (S-1 through S-4)		\$ 471,752.00			
TOTAL SUPPLEMENTAL PRICE IN WORDS (S-1 through S-4)		\$ Four Hundred Seventy One Thousand Seven Hundred Fifty Two Dollars and Zero Cents			
TOTAL BASE BID PRICE PLUS SUPPLEMENTAL PRICE IN FIGURES		\$ 13,386,993.00			
TOTAL BASE BID PRICE PLUS SUPPLEMENTAL PRICE IN WORDS		\$ Thirteen Million Three Hundred Eighty Six Thousand Nine Hundred Ninety Three Dollars and Zero Cents			

Contract award will be based on the total of the base bid price plus all supplemental bid items, even if some or all of the supplemental bid items are not ultimately included in the contract.

**PROVIDE A LIST SUB-CONTRACTORS
COPY OF LICENSES SUBMITTED WITH BID (MANDATORY)**

NAME Cooper Plumbing & Mechanical LLC
 ADDRESS 40 Paterson Ave
 CITY, STATE, ZIP Hamilton NJ 08691
 TELEPHONE: 609-584-1813
 FAX NO. 609-584-1814
 TRADE Plumbing
 LICENSE NO. Master Plumber 36BI01079000

NAME AC Photo Inc.
 ADDRESS 199 New Rd, Suite 44
 CITY, STATE, ZIP Linwood, NJ 08221
 TELEPHONE: 609-926-1200
 FAX NO.
 TRADE Construction Photography
 LICENSE NO. N/A

NAME Stokes Creative Group, Inc.
 ADDRESS 1666 Route 206
 CITY, STATE, ZIP Vincentown, NJ 08088
 TELEPHONE: 609-859-8400
 FAX NO.
 TRADE Construction Photography
 LICENSE NO. N/A

NAME Atlantic Infrared, Inc.
 ADDRESS 5042 Industrial Road, Suite A
 CITY, STATE, ZIP Wall Twp, NJ 07727
 TELEPHONE: 732-899-8994
 FAX NO. 732-899-8644
 TRADE Asphalt Infrared Processes
 LICENSE NO. N/A

NAME Ken Nagy Jr. & Son Trucking LLC
 ADDRESS 10 Rhode Street
 CITY, STATE, ZIP Sayreville, NJ 08872
 TELEPHONE: 732-904-6782
 FAX NO.
 TRADE Trucking
 LICENSE NO. N/A

PRICE SCHEDULE
 TRENTON WATER WORKS
 LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 1B
 BID2019-13
 BASE BID

No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
A1.	WATER SERVICE FULL REPLACEMENT TYPE 1 (FULL - MAIN TO CURB STOP - TWW-OWNED PORTION OF A FULL REPLACEMENT)	1,170	EACH		
	eight thousand five hundred (write Unit Price in words) dollars no cents			\$ 8,500.	\$ 9,945,000.
A2.	WATER SERVICE FULL REPLACEMENT TYPE 1 (FULL - CURB STOP TO METER - CUSTOMER-OWNED PORTION OF A FULL REPLACEMENT)	1,170	EACH		
	eight thousand five hundred (write Unit Price in words) dollars no cents			\$ 8,500.	\$ 9,945,000.
B.	WATER SERVICE PARTIAL REPLACEMENT TYPE 2 (MAIN TO CURB STOP - TWW-OWNED PORTION - PARTIAL ONLY)	130	EACH		
	eight thousand five hundred (write Unit Price in words) dollars no cents			\$ 8,500.	\$ 1,105,000.
C.	WATER SERVICE PARTIAL REPLACEMENT TYPE 3 (CURB STOP TO METER - CUSTOMER-OWNED PORTION - PARTIAL ONLY)	100	EACH		
	eight thousand five hundred (write Unit Price in words) dollars no cents			\$ 8,500.	\$ 850,000.
D.	NEW CURB STOP AT MAIN	325	EACH		
	five hundred dollars no cents (write Unit Price in words)			\$ 500.	\$ 162,500.
TRANSFER WATER SERVICE CONNECTION TO NEW/LARGER WATER					
E.	MAIN	30	EACH		
	eight thousand five hundred (write Unit Price in words) dollars no cents			\$ 8,500.	\$ 255,000.
F.	WATER METER REPLACEMENT	650	EACH		
	one thousand five hundred (write Unit Price in words) dollars no cents			\$ 1,500.	\$ 975,000.
G.	BALL VALVE	1,170	EACH		
	three hundred dollars no cents (write Unit Price in words)			\$ 300.	\$ 351,000.
H.	RIGHT OF ENTRY NOT GRANTED	200	EACH		
	one thousand dollars no cents (write Unit Price in words)			\$ 1,000.	\$ 200,000.
I.	ACCESS NOT PROVIDED	80	EACH		
	five hundred dollars no cents (write Unit Price in words)			\$ 500.	\$ 40,000.
J.	CURB STOP IN CONCRETE	400	EACH		
	one thousand five hundred (write Unit Price in words) dollars no cents			\$ 1,500.	\$ 600,000.

PRICE SCHEDULE
 TRENTON WATER WORKS
 LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 1B
 BID2019-13
 BASE BID

No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
K.	LONG-SIDE REPLACEMENT	650	EACH		
	eight thousand five hundred (write Unit Price in words) dollars no cents			\$ 8,500.	\$ 5,525,000.
	TEST PIT AT CURB STOP	300	EACH		
	one thousand five hundred (write Unit Price in words) dollars no cents			\$ 1,500.	\$ 450,000.
A.	FINAL PAVEMENT RESTORATION (Infa-red)	950	SY		
	one hundred dollars no cents (write Unit Price in words)			\$ 100.	\$ 95,000.
B.	FINAL PAVEMENT RESTORATION (Mill and Paving)	6,000	SY		
	thirty dollars no cents (write Unit Price in words)			\$ 30.	\$ 180,000.
	MISCELLANEOUS WORK AT DIRECTION OF THE OWNER		ALLOWANCE		
	ONE HUNDRED AND FIFTY THOUSAND DOLLARS (write Unit Price in words)			\$150,000	\$150,000
	TRAFFIC CONTROL		ALLOWANCE		
	THREE HUNDRED AND FIFTY THOUSAND DOLLARS (write Unit Price in words)			\$350,000	\$350,000
	PERMITS		ALLOWANCE		
	THREE HUNDRED THOUSAND DOLLARS (write Unit Price in words)			\$300,000	\$300,000
	ENVIRONMENTAL PROTECTION		ALLOWANCE		
	ONE HUNDRED THOUSAND DOLLARS (write Unit Price in words)			\$100,000	\$100,000
	PRICE IN FIGURES (1 through 7)			\$ 31,578,500.	
	PRICE IN WORDS (1 through 7)			\$ Thirty one million five hundred sixty eight thousand five hundred dollars no cents	

PRICE SCHEDULE
TRENTON WATER WORKS
LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 1B
CONTRACT NO. 2019-13
SUPPLEMENTAL BID

No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
	LEAD SERVICE LINE EXCAVATION GREATER THAN 5 FEET <u>fifty dollars no cents</u> (write Unit Price in words)	400	CY	\$ 50.	\$ 20,000.
	IMPORTED COMMON FILL <u>fifty dollars no cents</u> (write Unit Price in words)	40	CY	\$ 50.	\$ 2,000.
	CRUSHED STONE <u>fifty dollars no cents</u> (write Unit Price in words)	20	CY	\$ 50.	\$ 1,000.
	DENSE-GRADED AGGREGATE <u>one hundred dollars no cents</u> (write Unit Price in words)	40	CY	\$ 100.	\$ 4,000.
	FLOWABLE FILL <u>two hundred dollars no cents</u> (write Unit Price in words)	10	CY	\$ 200.	\$ 2,000.
	FINAL PAVEMENT CURB TO CURB <u>twenty five dollars no cents</u> (write Unit Price in words)	7,600	SY	\$ 25.	\$ 190,000.
	INITIAL PAVEMENT RESTORATION WITH CONCRETE SUBBASE <u>five hundred dollars no cents</u> (write Unit Price in words)	60	SY	\$ 500.	\$ 30,000.
	GRAVEL DRIVEWAY <u>fifty dollars no cents</u> (write Unit Price in words)	30	SY	\$ 50.	\$ 1,500.
	BRICK OR ROCK PAVERS <u>two thousand dollars no cents</u> (write Unit Price in words)	20	SY	\$ 2,000.	\$ 40,000.
	ASPHALT PRICE ADJUSTMENT <u>TWO THOUSAND DOLLARS</u> (write Unit Price in words)		ALLOWANCE	\$2,000	\$2,000
	MISC. CONCRETE <u>three hundred dollars no cents</u> (write Unit Price in words)	20	CY	\$ 300.	\$ 6,000.
	ALL SUPPLEMENTAL PRICE IN FIGURES (S-1 through S-4)			\$ 262,500.	\$ 298,500.
	ALL SUPPLEMENTAL PRICE IN WORDS (S-1 through S-4)			\$ Two hundred sixty two thousand five hundred dollars no cents	
	ALL BASE BID PRICE PLUS SUPPLEMENTAL PRICE IN FIGURES			\$ 31,578,500.00	
	ALL BASE BID PRICE PLUS SUPPLEMENTAL PRICE IN WORDS			\$ 31,877,000.00	

Contract award will be based on the total of the base bid price plus all supplemental bid items, even if some or all of the supplemental bid items are not separately included in the contract.

**PROVIDE A LIST SUB-CONTRACTORS
COPY OF LICENSES SUBMITTED WITH BID (MANDATORY)**

NAME None Cooper Plumbing + Mechanical
 ADDRESS 40 Patterson Avenue
 CITY, STATE, ZIP Hamilton NJ
 TELEPHONE: 609.586.1813
 FAX NO.
 TRADE Plumbing
 LICENSE NO. 36B101079000

NAME Spark Electric
 ADDRESS 7 Commerce Street
 CITY, STATE, ZIP Somerville NJ
 TELEPHONE: 908.534.9600
 FAX NO.
 TRADE Electric
 LICENSE NO. 34E B00518300

NAME Name
 ADDRESS _____
 CITY, STATE, ZIP _____
 TELEPHONE: _____
 FAX NO. _____
 TRADE HYAC
 LICENSE NO. _____

NAME Self perform
 ADDRESS _____
 CITY, STATE, ZIP _____
 TELEPHONE: _____
 FAX NO. _____
 TRADE Steel
 LICENSE NO. _____

NAME _____
 ADDRESS _____
 CITY, STATE, ZIP _____
 TELEPHONE: _____
 FAX NO. _____
 TRADE _____
 LICENSE NO. _____

TRENTON WATER WORKS
LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 1B
BID2019-13

				1	2	3	4	5	6	7						
				14 Ogden Street Newark, NJ 07104 973-482-1123 Info@RomanEG.com	PO Box 68 Bridgeton, NJ 08302 856-451-5300 bwidrick@southstateinc.com	354 Eisenhower Parkway Livingston, NJ 07039 973-808-8383 estimating@Spinelloco.com	PO Box 439 Basking Ridge NJ 07920 856-227-2030 michael@apconstruction.com	915 S Black Horse Pike Blackwood, NJ 856-227-2030 michael@apconstruction.com	75 South Gold Drove Hamilton, NJ 08691 609-584-1100	80 Contant Avenue Lodi, NJ 07644 973-478-5200						
No.	Bid Items	Units	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	
Base Bid Items																
1A1.	WATER SERVICE FULL REPLACEMENT TYPE 1 (FULL - MAIN TO CURB STOP - TWW-OWNED PORTION OF A FULL REPLACEMENT)	EACH	1,170	\$ 2,000.00	\$ 2,340,000.00	\$ 750.00	\$ 877,500.00	\$ 2,700.00	\$ 3,159,000.00	\$ 3,800.00	\$ 4,446,000.00	\$ 3,400.00	\$ 3,978,000.00	\$ 3,366.00	\$ 3,938,220.00	
1A2.	WATER SERVICE FULL REPLACEMENT TYPE 1 (FULL - CURB STOP TO METER - CUSTOMER-OWNED PORTION OF A FULL REPLACEMENT)	EACH	1,170	\$ 1,623.00	\$ 1,898,910.00	\$ 3,250.00	\$ 3,802,500.00	\$ 3,000.00	\$ 3,510,000.00	\$ 3,100.00	\$ 3,627,000.00	\$ 4,100.00	\$ 4,797,000.00	\$ 3,801.30	\$ 4,447,521.00	
1B	WATER SERVICE PARTIAL REPLACEMENT TYPE 2 (MAIN TO CURB STOP - TWW-OWNED PORTION - PARTIAL ONLY)	EACH	130	\$ 2,000.00	\$ 260,000.00	\$ 3,900.00	\$ 507,000.00	\$ 2,800.00	\$ 364,000.00	\$ 3,800.00	\$ 494,000.00	\$ 1,460.00	\$ 189,800.00	\$ 3,650.75	\$ 474,597.50	
1C	WATER SERVICE PARTIAL REPLACEMENT TYPE 3 (CURB STOP TO METER - CUSTOMER-OWNED PORTION - PARTIAL ONLY)	EACH	100	\$ 2,000.00	\$ 200,000.00	\$ 900.00	\$ 90,000.00	\$ 3,300.00	\$ 330,000.00	\$ 3,100.00	\$ 310,000.00	\$ 2,700.00	\$ 270,000.00	\$ 4,626.05	\$ 462,605.00	
1D	NEW CORP STOP AT MAIN	EACH	325	\$ 850.00	\$ 276,250.00	\$ 500.00	\$ 162,500.00	\$ 1,200.00	\$ 390,000.00	\$ 100.00	\$ 32,500.00	\$ 1,920.00	\$ 624,000.00	\$ 120.00	\$ 39,000.00	
1E	TRANSFER WATER SERVICE CONNECTION TO NEW/LARGER WATER MAIN	EACH	30	\$ 5,000.00	\$ 150,000.00	\$ 1,150.00	\$ 34,500.00	\$ 2,700.00	\$ 81,000.00	\$ 100.00	\$ 3,000.00	\$ 7,600.00	\$ 228,000.00	\$ 1,250.00	\$ 37,500.00	
1F	WATER METER REPLACEMENT	EACH	650	\$ 220.00	\$ 143,000.00	\$ 300.00	\$ 195,000.00	\$ 600.00	\$ 390,000.00	\$ 100.00	\$ 65,000.00	\$ 360.00	\$ 234,000.00	\$ 87.60	\$ 56,940.00	
1G	BALL VALVE	EACH	1170	\$ 290.00	\$ 339,300.00	\$ 165.00	\$ 193,050.00	\$ 33.00	\$ 38,610.00	\$ 100.00	\$ 117,000.00	\$ 254.00	\$ 297,180.00	\$ 56.75	\$ 66,397.50	
1H	RIGHT OF ENTRY NOT GRANTED	EACH	200	\$ 40.00	\$ 8,000.00	\$ 165.00	\$ 33,000.00	\$ 340.00	\$ 68,000.00	\$ 100.00	\$ 20,000.00	\$ 128.00	\$ 25,600.00	\$ 55.00	\$ 11,000.00	
1I	ACCESS NOT PROVIDED	EACH	80	\$ 40.00	\$ 3,200.00	\$ 325.00	\$ 26,000.00	\$ 1,700.00	\$ 136,000.00	\$ 100.00	\$ 8,000.00	\$ 128.00	\$ 10,240.00	\$ 1,310.00	\$ 104,800.00	
1J	CURB STOP IN CONCRETE	EACH	400	\$ 250.00	\$ 100,000.00	\$ 500.00	\$ 200,000.00	\$ 610.00	\$ 244,000.00	\$ 100.00	\$ 40,000.00	\$ 584.00	\$ 233,600.00	\$ 790.00	\$ 316,000.00	
1K	LONG-SIDE REPLACEMENT	EACH	650	\$ 700.00	\$ 455,000.00	\$ 1,075.00	\$ 698,750.00	\$ 790.00	\$ 513,500.00	\$ 100.00	\$ 65,000.00	\$ 688.00	\$ 447,200.00	\$ 1,255.00	\$ 815,750.00	
2	TEST PIT AT CURB STOP	EACH	300	\$ 700.00	\$ 210,000.00	\$ 500.00	\$ 150,000.00	\$ 680.00	\$ 204,000.00	\$ 100.00	\$ 30,000.00	\$ 500.00	\$ 150,000.00	\$ 555.00	\$ 166,500.00	
3A	FINAL PAVEMENT RESTORATION (Infa-red)	SY	950	\$ 1.00	\$ 950.00	\$ 50.00	\$ 47,500.00	\$ 41.00	\$ 38,950.00	\$ 85.00	\$ 80,750.00	\$ 52.00	\$ 49,400.00	\$ 187.80	\$ 178,410.00	
3B	FINAL PAVEMENT RESTORATION (Mill and Paving)	SY	6000	\$ 28.00	\$ 168,000.00	\$ 43.00	\$ 258,000.00	\$ 28.00	\$ 168,000.00	\$ 90.00	\$ 540,000.00	\$ 40.00	\$ 240,000.00	\$ 150.00	\$ 900,000.00	
4	MISCELLANEOUS WORK AT DIRECTION OF THE OWNER	ALLOWANCE	\$150,000	ALLOWANCE	\$ 150,000.00	ALLOWANCE	\$ 150,000.00	ALLOWANCE	\$ 150,000.00	ALLOWANCE	\$ 150,000.00	ALLOWANCE	\$ 150,000.00	ALLOWANCE	\$ 150,000.00	
5	TRAFFIC CONTROL	ALLOWANCE	\$350,000	ALLOWANCE	\$ 350,000.00	ALLOWANCE	\$ 350,000.00	ALLOWANCE	\$ 350,000.00	ALLOWANCE	\$ 350,000.00	ALLOWANCE	\$ 350,000.00	ALLOWANCE	\$ 350,000.00	
6	PERMITS	ALLOWANCE	\$300,000	ALLOWANCE	\$ 300,000.00	ALLOWANCE	\$ 300,000.00	ALLOWANCE	\$ 300,000.00	ALLOWANCE	\$ 300,000.00	ALLOWANCE	\$ 300,000.00	ALLOWANCE	\$ 300,000.00	
7	ENVIRONMENTAL PROTECTION	ALLOWANCE	\$100,000	ALLOWANCE	\$ 100,000.00	ALLOWANCE	\$ 100,000.00	ALLOWANCE	\$ 100,000.00	ALLOWANCE	\$ 100,000.00	ALLOWANCE	\$ 100,000.00	ALLOWANCE	\$ 100,000.00	
Supplemental Bid Items																
S-1A	LEAD SERVICE LINE EXCAVATION GREATER THAN 5 FEET	CY	400	\$ 25.00	\$ 10,000.00	\$ 50.00	\$ 20,000.00	\$ 287.60	\$ 115,040.00	\$ 100.00	\$ 400.00	\$ 24.00	\$ 9,600.00	\$ 305.00	\$ 122,000.00	
S-2A	IMPORTED COMMON FILL	CY	40	\$ 20.00	\$ 800.00	\$ 30.00	\$ 1,200.00	\$ 37.00	\$ 1,480.00	\$ 100.00	\$ 40.00	\$ 100.00	\$ 4,000.00	\$ 75.50	\$ 3,020.00	
S-2B	CRUSHED STONE	CY	20	\$ 44.00	\$ 880.00	\$ 50.00	\$ 1,000.00	\$ 53.00	\$ 1,060.00	\$ 100.00	\$ 20.00	\$ 107.00	\$ 2,140.00	\$ 89.60	\$ 1,792.00	
S-2C	DENSE-GRADED AGGREGATE	CY	40	\$ 44.00	\$ 1,760.00	\$ 50.00	\$ 2,000.00	\$ 39.00	\$ 1,560.00	\$ 100.00	\$ 40.00	\$ 107.00	\$ 4,280.00	\$ 77.75	\$ 3,110.00	
S-2D	FLOWABLE FILL	CY	10	\$ 160.00	\$ 1,600.00	\$ 125.00	\$ 330.00	\$ 330.00	\$ 100.00	\$ 1,000.00	\$ 150.00	\$ 1,500.00	\$ 174.10	\$ 1,741.00	\$ 200.00	\$ 2,000.00
S-3A	FINAL PAVEMENT CURB TO CURB	SY	7600	\$ 22.00	\$ 167,200.00	\$ 21.00	\$ 159,600.00	\$ 21.00	\$ 159,600.00	\$ 25.00	\$ 190,000.00	\$ 12.00	\$ 91,200.00	\$ 41.40	\$ 314,640.00	
S-3B	INITIAL PAVEMENT RESTORATION WITH CONCRETE SUBBASE	SY	60	\$ 95.00	\$ 5,700.00	\$ 550.00	\$ 33,000.00	\$ 41.00	\$ 2,460.00	\$ 100.00	\$ 6,000.00	\$ 104.00	\$ 6,240.00	\$ 102.30	\$ 6,138.00	
S-3C	GRAVEL DRIVEWAY	SY	30	\$ 100.00	\$ 3,000.00	\$ 150.00	\$ 4,500.00	\$ 28.00	\$ 840.00	\$ 100.00	\$ 30.00	\$ 107.00	\$ 3,210.00	\$ 13.70	\$ 411.00	
S-3D	BRICK OR ROCK PAVERS	SY	20	\$ 280.00	\$ 5,600.00	\$ 275.00	\$ 5,500.00	\$ 200.00	\$ 4,000.00	\$ 100.00	\$ 2,000.00	\$ 115.00	\$ 2,300.00	\$ 33.70	\$ 674.00	
S-3E	ASPHALT PRICE ADJUSTMENT	ALLOWANCE	\$2,000	ALLOWANCE	\$ 2,000.00	ALLOWANCE	\$ 2,000.00	ALLOWANCE	\$ 2,000.00	ALLOWANCE	\$ 2,000.00	ALLOWANCE	\$ 2,000.00	ALLOWANCE	\$ 2,000.00	
S-4	MISC. CONCRETE	CY	20	\$ 150.00	\$ 3,000.00	\$ 1,400.00	\$ 28,000.00	\$ 330.00	\$ 6,600.00	\$ 100.00	\$ 2,000.00	\$ 150.00	\$ 3,000.00	\$ 811.30	\$ 16,226.00	
Base Bid					\$ 7,452,610.00		\$ 8,175,300.00		\$ 10,535,060.00		\$ 10,778,250.00		\$ 12,674,020.00		\$ 12,915,241.00	
Supplemental Bid			</td													

BID2019-13 LEAD SERVICE LINE REPLACEMENT – PHASE 1B FOR LAWRENCE AND HAMILTON TOWNSHIP FOR THE CITY OF TRENTON, DEPARTMENT OF WATER AND SEWER BID OPENING 3/26/2019 AT 11:00AM

FATAL FLAW	SUB <u>MUST</u> BE REGISTERED AT THE TIME OF BID OPENING	NONE	NONE	SUB <u>MUST</u> BE REGISTERED AT THE TIME OF BID OPENING	NONE	NONE	NONE
------------	-----------------------------------------------------------------	------	------	-----------------------------------------------------------------	------	------	------